R.c ~030

DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the Firemanship for Officers of Tamil Nadu Fire and
Test:

Departmental Test in the Manual of

Rescue Services - Second paper 059
(Without books)

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamen@Ml suend eenrdSmei

Read the following instructions carefully before beginning to answer the
questions.

e aenad ellenL wellsssd QBTLRAIGW (WL SR&EGIL sifiasrsamend
SEUGILOTSL Ul HS6LD.

1.

This computer based Test contains 100 number of questions in objective
Type.

Q55s saiefl iy CoHToumangl, 100 QaMAMGN sumauleonsr eemssmens
QB mavuL S.

. Answer all questions. Each question carries one mark

Simensg allanssErs@L  allmiwelssad aleaurm olsmeyh
HIICILETH 2 L WG

In case of doubt, English version is the Final.

allmsaeiled ehGaaLd QUi grufe eaugellsd Qan@ési @sren
allerrsaCon GmiHuirang).

. Words of masculine gender in these questions shall, where the context so

require, be taken to include feminine gender.

Qs elermsaaico @Lib Qubmidter gueo LTEOMSSeuflsi QTS seed
GaemallLiget, HLOGCHHL Qustn  uTellesFeuflet  euUMISHMmSHEHLD
SILMIGLD.

. Before answering the questions in CBT, candidates should read the following

instructions displayed in the monitor:

sllaueRiuugnyiaear safall iy Csjalng ol weléssd QsTLRiEL
Wer  saelullesr  Hevguileh  CoiMIDd  SNUMFHOET  HQUSHOTSHL
Lig. &&HeLD.

a) One question will be displayed on the screen at a time.

20y CrISSD @@ eNem LLECWL smNafd Hamyulehr CHmeEIMILD.

b) Time available for you to complete the examination will be displayed through

a countdown timer in the top right-hand corner of the screen. It will display



What is the maximum height of the cold stack which is having the size of 150 mm?
150 8.8 siereyerar @etlm suLrédlen siflesul s 2 urb erenug)

o 45m (B) 5.5m

4.5 18 5.5 8
(Cy 6.5m (D) 7.5 m
6.5 15 7.5 8
“Ideal fuel” — has Calorific value.
Hleoar erMGummerfles aGeorf iy
(A) Low Calorific value M High Calorific value
Gopbs Gl Beraif 2 wirhg &Garfl erai®
(C) Neutral - (D) None of these.
BHblemewmang Gea g lldoame

How is Static Electricity Most caused?
Hleney WEememib o (HeUTHSE &STTERTD 6T e ?

. M By friction Between two non conducting Substances

®)
(€

D)

@ran® WersL s Qumplsatien o yrlieumed

By friction Between two conducting and non conducting Substances
Egenm Wers_Sgb womib Weral Saru Qum@earsafler e pmieured

By friction Between two conducting Substances

Qe Beasgn Qurml seflar o priefierme

None of these above
Gencusaiies g Bevane

By which ways fire can spread
aps anflsella § ureeordng

(4)

(©)

Convection (B) Conduction
Geuliugsaemb &L GE60
Radiation and direct burning mll the above
sdlraids wpmbd Crirerflged CophaeirL. SenandEib
3 030/DM/24
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5. Benzine 1s also known as?
Glueéen ereueumn Benp&sILHEDS) ?
(A) Benzole (B) Coal naphtha
CuenGarea Gamrev prigm
Petroleum Ether {D) None of the above
QU Grrellwb &g GeubmieT grgISidvenay
6. Sand lime is
QFeaTl. epeid eTetTLig)
Calcium carbonate (B) Calcium chloride
sreévdlwb arruGer srofwb @Germenyh
(C) Calcium Silicate (D) Magnesium Silicate
sravdlunb Hedlablam’ wéaTHwub HlsEQsr
7. Which one of the following can cause Dust Explosions?
@eupmier gndl Geuglily gHUL &TyeRTd ?
(A) Aluminium (B) Coal
sigbflafiwin Bleosai
(C) Cotton ground All of the above
UmES Sy Qevar Sepansgild
8. Following Metal/s are/was readily ignite when moist added
EpseaL 2 Carab / 2 Canrsmsailes mriugh s@wremd erfflaadd 2 L L@eug ?
(A) Sodium (B) Potassium
Gemg i GQurlrdwn
(C) Rubidium U~ All of these
(BL9) g 1D Eleneu Bwensgib

030/DM/24 4



9. Odd man out
Qurmbsnsens CsisblsmH

(A) National Disaster Management Authority
Cosflu CuRLT Cenarand gy erTil D

(B) Dastrict Disaster Management Authority
wreul L Guili CueraTew <,emerruLd

\V National Crisis Management Committee
Gaflu Qpmésy CLmeRTend o,aemD

(D) State Disaster Management Authority
wrfle GURlLT Cararenid yenaRTIID

10.  Sulphuris

EhSHED TG

(A) Dark purple crystals (B) Colour less crystal
HBUY BID Lgsib Hpwdp Lgsb

{(C) Red crystals y Yellow crystals and powder
FAeutiy Blm LgHid @heFeT Flp Lg&ID WHDID FreT

11.  What is the use of Ammeter?
O L flen LweTuT{) eTeas ?

.( Instrument used for measuring, flow of current in a circuit
@ sIule BarGarmLseng iareflQeushamean smedl

(B) Instrument used for measuring water flow
BirolLib sereflRougharer smell

(C) Imstrument used for measuring flow of milk
U Wil s Serell(heugharar &mell

(D) Instrument used for measuring oil flow
cTaiTlenTil WL SeTellheugharar smell

5 030/DM/24
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12.

13.

14.

Which of the following sentence is true?
SpaumeuanalhmieT erg FfluTeng

(A) Pentane is a colour less gas
GuerGLen e(m Blpwbmn eumy
\(y Pentane is a colour less liquid
QuenGLen ¢m Flmwmn Hron
(C) Pentane is a dark brown liquid ‘
QuenGem e o frugpliy Bim Birow <
(D) Pentane is a yellowish liquid
QuenGierm g(p @hFaT Blm Brwoib

Industrial application of calcium carbide
srflub sriaul Csmfihsrensd LweTur® ereben ?

{A) Used in fertilisers
2 g swrflés LweTtuGEpg

(B) Used in Manufacture of Plastics
Germevig & swnflés LwetuhEns

VU sed in Manufacture of acetylene
8 eller gwrfss wweaTLHEng

(D) Used in soap manufacture
Geriiy swirtlés LweTLRE DE

Which of the following chemical used in manufacture of insecticides?
Genaupd @remuamaate ergy Usd Aamded swrilés LweruREmng ?

(A) Bromine Menzine
@

4 Grmuetr Ligh&eot
(C) Potassium sulphide (D) Pyridine
Qumt L réflunb sevenun enuig 6o

What 1s a Cobalit?
Cobalt eretriigy erebrer ?

(A) Rubber (B) Synthetic Resin
gruurr flengn s Crslen

(C) Paint I ~Natural Gum
Quuder \/@m@eﬁ)&s Lens

030/DM/24 6



16.

17.

18.

19.

20.

What 1s a Isoprene?
Isoprene sremmug eremen ?

A oi ﬂubber

<2puSleDd @uvini
(C) Resin (D) Gums

Gly&ler Bluhens umsseT
What is the Calorific Value of rubber?
@ruuflen sGanfl wHuy erenar?
(A) 15000 BTGU @/1'7000 BTGU
(C) 20000 BTGU (D) 25000 BTGU

The knot used to shortening a line temporarily without cutting is called
sulpder Bersens sHETOISONG GH@ODES LWSTUHD (plgFa?

(A) Catspaw (B) Bowline
Gslev LT LIGL DGV
Sheep Shank (D) Timber hitch
FI) egpry Ut @&
What is T.N.T.? /
T.N.T. erég) ereman?
Explosive (B) Fertilizers
Qeug QumweT O _[IaIGET
() Insecticides (D) Toxic Aad
L S&&5asmaedser B&& 8l

In Explosive fire fighting Classification, Explosive are those containing gun powder
comes under

Qeug L@UT@ET SwenarTlil eUaSILT 16 Setuel i GleugQUITHET ahs euemsLIuTL g 6
&1p eu(pb?

Y& Class ®) Class I

euensium(y 1 euensium(p 11
(Cy ClassIIi (D) Class IV
euensim(p 111 awasuuri IV
7 030/DM/24
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21.  What is not correct of acetylene?
Spsartcupmier Bé L ele LHHlu FeupTeT FmDm 6Tg?
{A) Very low Flash Point
Bles @@pbs Suupn Haa
(B) Very low explosive point
WDas Gophs Cleg&Eh aurbLy
w/ Very less vapour density than acetylene
S Ledler Blss Gonbs el oL &Sl

(D)} Poisonous Vapour
cflag el

22.  The number of cycles of wavelength is called
Samebarsdlen spvdlsaien aarailEms

(A) Sequence (B) Emergency
e aflewsuns SicusnHlene
Frequency (D) None of these
1Sl quet QaeupBlev ergiuicveney

23. Inindustries what flammable gas is used for cutting?
Qsmimerensruier Gaul HeughE LweTLBSsrIuED aflussnigL eumy 6rg)?

M%etylene (B) Hydrogen

AL 6Nl ena | Grmeel
(C) Chlorine (D} Ammonia
&Gemmiler Gwrefwur

24. Which metal has high expansion rate?
218& B saenn 2 e w 2 Goorad erg)?

(A) Steel (B) Copper
Gle & S&STLum
Aluminium (D) Zinc
< bleflwib SISSHI&LD

030/DM/24 8
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25.

26.

27.

28.

An Over flow of burning o1l with explosive violence is
Qeuly QLimmeT presens slaneralliiig Gumra erdluyb pulld GeuallCuipieug

(A) Slop Over (B) Down Over
oGl geu LGédT gpeulT
Boil Over (D) Heat Over
umSled gpeuf @b geuir

The helicopter over water are often fitted with floating equipment is
CanelasriLfe geawats Goéd upsEh Hleaouid emwsstiul (e Ngamal el
QU

(A)  Chinook (37 Sponsons
HAeprs €0 LI TeaTF TG

(Cy Pylon (D) Rudder
enLIemast eHLL T

0Odd man out Properties of Carbon by sulphate?
Qurppsnsens CsTHEAFHES|D. (STTUH apil FoeUb (&HRTHOETSHET)

(A) Heavy than water
s enfellLd sanoTeng

(B) Flash point considerably below zero
afflenaw 0° &@ S

(C) Its vapour being much heavier than air
B ser cumu| smhHenn el sanrerg

Its non flammable
Q& afifleoq Gdarsg

Which of the common method is used to fire brigades receive emergency calls?
SieusT Si@plinsenet LUlGal v UWETUESIUSHE GUTgeuTar (PeDWIMELD.

(A) Telephone exchange (B) Police
QgranaGusl uflbrhpibd GumeSen
(C)  Wireless system PP7All of these
eur@ermedl e pLIlSET Glanen DHenaTSEilD
9 030/DM/24
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29.  Which chemicals Kept Under Water?
aThg CablEsd gama(hé@Edr eeuds LINTGETESILHID ?

(A) Sulphur (B) Red Phosphorus
FOUT HAeuliy unevL e
White phosphorus (D) Phosphate
QeueTensT UTeUTE umepGui_

30. Which one of the following 1s not effect of earthquake?
EpsamL qeny orgy Hloplassder ellanerey e ?

(A) Land slides o\ Cyclone
Yell 2i(éEE aphél @prasaf

(C) Tsunami (D) Tremors
< BGuTene 2ifliray

31. Polyurethane Plastic in a fire situation Produce

uredly,Crader Rermevig s SLNligd@n Curg ———— 2 (maundlpgy 2
(A) Hydrogen Chloride .[B/Hydrogen Cyanide
(C) Sulphur dioxide {D) Carbon dioxide

32. In mechanical refrigeration the refrigerant 1s “Freon” as
Ausdlr gellam Lo weapuia gellliugaiurs uwaTLRESsSLUGRD “Freon” eamug

Non toxic and Non flammable
Nesssarewupng, SLHUDDTSSE
(B) Non toxic and flammable
cllegssemenwwpHng, eTiluiEam iquig
(C) Toxic and Non flammable
Nagssearanvwien g, SOUDDHTSS
(D) Toxic and flammable
eflagpsgerenje g, erflussniquig

33. What kind accidents can happen in explosive storage?
ereucuensEwWTen efLggEeT CabliLy S ri@gsaied bul eumuiilieTerg ?

(A) Outbreak of fire (B) Conflagration
(HeUTELD Qumbd
Explosion (D) All of above
QgL Geveu @S

030/DM/24 10



34.

38.

36.

37.

38.

Melting point of Lead is

arilugdler o meblane

(A) 227°C By 317°C
& 327°C (D) 417°C

Which one of the following gas is not flammable gas?
Spsam_euppier erfliudamiqul eumy Sdearsg ergl?

Oxygen (B) Acetylene

Spsetlger T [ P
{C) Ammonia (D) Hydrogen

2 Gorafwim engamL Grmeyer

Which of the following in not a frequency band?
Aesrau(meuaneuhiier e(m S emmaiflens idew.

(A) Very high frequency (B) Ultra high frequency
Bl 2ifls oiflirkleua DLy 2w il eu et
(C) Medium frequency Mnfra frequency

BOS5T o8 fbleuehr sissfleuiy SidiQeud

Which one of the following is called “Quick Silver”?
Spsar_aubmer “Quick Silver” erery sienp&slLIReg) ?

(A) Nitric Acid S Mercury Acid
Bl & bled LUrsrE Bjbleod
(C) Sulphuric Acid (D) Hydrochloric Acid
&h5HE DUleid enapt Grm@gGarmiis 2bleid

“LOX” (Liquefied Oxygen system) found on which type of Air craft mainly used?
“LOX” (Liquefied Oxygen system) erpg eflgonar eSiorangdler eSS 1LHSEDS.

Military Aircraft (B) Naval Aircraft
@ rrame eflwrern sLhuUenL afloreand
(C) Civil Aircraft (D) All of these
Lwenilser eSlwrard Gmal SmarsSa b
11 030/DM/24
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39.  What Type of Salvage Sheet are used in the Fire Service?
cretre cuenswTen LUngaTiy Alflyser Suenerriiy gepuld LweTuRSsl LGS eTnear.

(A) Plastic and Polythene
arreg.d HmD LredSer eiflLisar

Rubberized and Canvas

gouT eAflliyser wHmb Casreursn Sflliysdr
(C) Canvas and Plastic

Gaerreurev eflfluyse whpb Getrevgd MM s6T
(D) Plastic and Rubberized

Mermeioy & wdmib griur el fAliysdr

40.  Which one of the following should not be used when working in smoke or darkness?
Lens wHmid Bmead uasilyfluyb Qurug euCurdlésssmsg erg ?

(A) Hand Lamps (B) Box lamps
& el eTE @ sar G g efleTd@ger
(C) Flood lights 7 Naked lights
Gleudter eflemdFseT s ellendgaer

41. In oil Refinery when one 1s cursing Products?
aam@enil &5SaNinle Spsam_cubmer erg cursing swrflig?

(A) Methane thylene
LE6 s eSeir
(C) Kerosene (D) Petrol
L0 687 @l 6T 6T 6l T QuL_Crmé

42, Universally “HAZCHEM” — Code is consists of a number from
o osarelles “HAZCHEM” — Code o _drem_&dlu erammaser.

W 1iod B) 1to5

1 s 4 1 apséd 5
€) 1to7 D) 1to3
1 apged 7 1 psed 3

030/DM/24 12
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43. When red Hot Iron contact with water Gives——— Gas?
flaups Ly @ wwy Lg sarefiubn Curg Hfladmhg Qauafilu®in eumy?
(A) Nitrogen (B) Oxygen
&0 L_TER e & mer
(C) Carbon dioxide M Hydrogen
EriueTenl & F(H en@UD L TER6HT

44.  Which one of the following is not a casual phenomena Tsunami?
Gemeupeuaneupmar orgl gL fluGurene flapaiier Curg GsrmSdarsg
(A) Fault movement on sea floor
S U LSl ghuib wrpsONar Barey
(B) A landslides occurring under water
gementflen g riurinle Haodefe wrhon
(C) Volcanic activity either underwater as near the shore
sLO SigiLuEd wHmb sLps@r S@Bhd drer arflbaauiien EHpLb

( Cyclone’s in the sea surface
sLpuylider Guorer @mnreuet

45.  Which is the suitable extinguishing media for Metal for the power fire?

GetreupeuameudmeT argl 2 Caras Swenamiienu SamsHGh GUTHESDTE 2o SOTEW ?
(A) Foam Type Extinguisher

mIeoTeIens SulaearTILITeT
(B) Water Type Extinguisher

SerTentireuens SulenewTiiLimes
(C) Chemical Type Extinguisher

TWLIGH GUENS &UIEnERTLILIFeHT

Special TEC (Turnary Euetectic Cholride)
Swenenrumer TEC

13 030/DM/24
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46.

47.

48.

49,

Which one of the following is used to prepare Acetylene?
Aereumeuareudmuer erbg perm 1AL Lalar swrflés Lweau &g ?

(A) Butane
Supereir
(B) Butyl acetate
uhenL e oSG
Calcium carbide
sraflu srienLi)

(D) Batyl alcohol
SuenL & BLOSADTED

Which one of the following is not a Vegetable fiber?
@eunmeT smOsHl BT HDOTSH Tl ?

(A) Cotton G Wool

LSS shuafl
(C) Hemp (D) Rayon
gemred Sullmy Qewpeans L

Escape ladder — means
Escape ladder — erénugen Qum(mer
(A) A Ladder mounted on vehicles
serfrdluyLeir QuUmEmSSOUULCHdTer eremfl ienoliyy
( A Ladder mounted on wheels
F&aTHGLen urmssiiul Hieter ganfl Biawiy
(C) A Ladder fitted one more additional loops
garflyLer Fagw #mpsd ganfl Si@wly

(D) A Ladder Fitted with booming units
Quirig gearflyLer QuTmSsIULHETer S@G

What is vapour density of COg?
ML - el - Bpsanau( el BLT$H eremar?

7 153 B) 2.5

€y 35 (D) 4.5

030/DM/24 14



50.

51.

52.

53.

54.

What is nominal pressure (bar) for water circuit relays?
semantt &Hn QBT 1L sH0E QUIFUTET (PSS TGS ?

(A) 5Sbar (B) 8bar

V 7 bar (D} 2bar

What chemical is extensively used in synthetic Rubber industry?
Qewpers Gruui Asmfihsepuld g Greruend Lrauars LwaTUBSSUUBSDE ?

{(A) Bromine Mﬂ:adiene
QGyrentnest Gy horenguer

(C) Petroleum Ether (D) None of the above
Qui Grredluib F&s Geupmier ggllldoena

Which material is during the combustion give toxic fume?
erflujb Guimgy p&eH euryeney CeueflluBEgIaug g ?

(A) Steel (B) Metal
aole 6 AT )

(C) Timber Plastic
LOJ&HSH_ DL ST erreivig &

What is the limits of flammability of Hydrogen?
want CGrrgaflen Suubmib auydy 6rg?

y 4.1to 74 (B) 10to 30

(C) 20to30 (D) 30 to 50

Which metal should be provided in Lightning arrester earth cable?
Bgsriufuier Earth Cable-Mf vweru@pio 2 Carsw erg)?

(A) Aluminmium (B) Iron
signBlaflib @(mL

M Copper (D) Steel

ST G le 6

15 030/DM/24
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55. Abbreviation of CAM
CAM aratiuges eSlfleunsasin

(A) Computer Aided Monitoring (B) Control Aided Mobilizing
Computer Aided Mobilizing (D) Control Aided Monitoring

56. How many types of electric lightings in use?
aggenen euenawnen Wen eNaTs@aeT Lwemum g o aramern?

(A) Two Types (B) Three Types
QDL O] epeTmy)
Four Types (D) Five type
e, B!

57.  According to the landing procedure, how many fire fighting classification are there?
QeulgLIQUMBHL S6T eswTEsD afladig, assmear u@suTer SumeRTiy PaDEET
2 aTeg ?

(A) 5 B) 7

y 9 (D) 10

58. U.V.C.E- abbreviate
U.V.C.E-arérugen eflfieungsd

M Un Confined Vapor Cloud Explosion

Sien sereuan(® GCeuliu sblevet( erdevGeTragesr
(B) Un Confined Vapor Cloud Expansion

sien sentauet®h Gaulur &Gl eréavGuenag em
(C) Under Vapor Chemical Explosion

S Geuliu GallEsd asevyGeTmager
(D) Under Vapor Chemical Expansion

Sien i GCautiun Gellasd erdevGuenagpern

59.  Which type of fire fighting is more suitable for small fire in fat?
Qarule gpul L An S siems@h GUTHESSLTET (LM ?

(A) Cooling method ﬂﬁmothering
@eflTeilgsed apss: Sleatrigssed

(C) Starvation (D) All of the above
Ll gafl Cur@Gise @6 JenanggIbd

030/DM/24 16



60.

61.

62.

63.

The amount of water which a line of hose will past depends upon?
BreflHigpmuie B agen diqliuen e sLbg Ceddng ?

{A) The pressure at the pump
uwbller SiWssh
(B) The diameter and type of hose
BreflBi@Lpomlisn aill Lib wHmb e cuans
(C) Length of hose line and size of nozzle in use
Birebihi@pmler Serd wHMD ULGTLHESID Brd
@/ all the above
Gl Smarsgh

What is the Explosive limit of the Acetylene?
A LeNen Gleud@b QuTbL| eranen ?

(&) 2.5 to 20 (B) 2.5to18
" 2.5t013 (D) 25t05

Which one of the following is not a basic control room procedure?
Gereumeuareunmla erg b BjgliueL. sLEUUTL{H DD HOL(PED e,

(A) Ascertain and record the address of fire and other incident
§ flugg wppn Gp souasans e pduubised ude dadua)b
(B) Alert the stations involved and pass turnout instructions
Hevawrisefie Ggr_iy bHgib assféms awifipapsamer sLEZ
(C) Note and record the time, at which the call was received
@Oty Qupliuc e Grysengls Lfey GFwug ude] GFiwabd
De mobilizes further resources
venL Sy Hio vesll Serubnayb

Boiling Point of Barium?
Guilwn CAerdlflenc ereires ?

(A) 1000°C 1140°C
(C) 1500°C (D) 1740°C

17 030/DM/24
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64.

65.

66.

67.

68.

Unit of measurement for ‘Heat flow rate’ is?
“@euliu gL ellflgh” g oTg)?

y joule (B) watt

8IoGH QuITE.
(C) centigrade (D) newton
Qeamg A CTH Byl L

Which one of the following is not true about sulphuric Acid (H2504)?
SpsamLeupper sy fls o uodlu geuprer sbm g ?

(A) Toxic (B) Corrosive
B&& SeTenD 2 L WG shGF Flengss cudeg
(C) Mixable w None of the above
HO&&SEHLIG I @eupmier gglidldvenen

In High rise Building refuge area has been provided at
2 wifomg s gL msalld Refuge Area wyanwastu@ib o wgb?

(A) 22 mts (B) 23 mts
22 8 23 8
( 24 mts (D) 25 mts
24 18 25 8
Abbreviation of NPV
NPV arenugenn eflfeunssid
(A) Negative Pressure Volt M\Iegative Pressure Ventilation
adliomn 2i(wsHs Ceurd aHirwenn wss SrHGHTL LD
(C) Non Pressure Ventilation (D) Non Pressure Volt
SWYEFD @bens sTHGHTLL D 2i(ipSsD @oveors Ceumedl

“Hanger” — protection is lying in the area of
“Hanger”- ungiamiy sienwdy Spésam_supmier ordléd amhbgererg.

(A) Air craft landing area (B) Air craft Maintenance area
clorerd gEHGeTD eflrernd uymof&éEn QL b
(C)  Air craft tax lying area ﬂll of these
clloren @mpm@GgeTd MEU DMETHGILD

030/DM/24 18
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69. What is the Purpose of Ventilation as a Fire (Odd man out)?
QummbsTsms Cainls® adrer amensdnsts § dlugdear Curg arhHCoriLib Coeneu
(A) To prevent the spread of fire
& ureyeuens sH&E
(B) To avoid Damage by Smoke
yaasleamed gouie @plieu sellfiughens
To put out the Fire
Seow sLHUUBES
(D) To Enable Firemen to work with the minimum possible
Swueemuinneriadr & efugHer fArwidlerd LienflwmbHD

70. Rolonoff — Unit types
Rolonoff—yafl’ euansser ereiug

Sl S LESgIL e §&s wpiwung senwliy
Consisting of a basic frame — onto which a variety of removable units
SQUILINL UL ESFIL 6T Bassnigul Sepwliy

M Consisting of a basic frame — onto which a variety of non removable units
B

(C) Consisting of a basic frame
(P(PELOWITET DligliLenl. FLL LD

(D) A rung of a ladder sets
geanflllesr Fi sieLULSET

71. What is Bracing?
Bracing erémmmed erestar?

(A) Removal of the Grass in the forest
sy SlHEGD LHSMET HSHHHIF6D

(B) Removal of the trees in the forest
&g ol(mE@Gd DIRISEMET HSHMISED

(C) Removal of Bushes
LSTEMET HEDHDIFD
Removal of branches of Trees
wrsen Ep 2 eter Slenersmer BFHMIFHD

19 030/DM/24
[Turn over



72. Cobalt - 60 Gamma rays 1s widely used in Radiation process. Below the Following
Statement/s is/are correct.
Camumet -60 gmor sHi ifs arpemmisamer flasnrs LUETLHSSILGSDG. SpaseRTL
aryewasald ergy sflwnang.

¥
(i)
(iii)
(iv)
1.
2.
3.
4.
A)

<)

Inhibition of sprouting seeds

Microbial decontamination in Potato, Onion.

Delay in ripening of Banana, Mango

Sterilization of Medical disposables

cSlengaeT (pemeTliUMS SHiGESHW

2 (maner fipris, Geumsmub yfueubHan mearanuid gnimwurgsd QFduw,
QuTenlp, WTbLIPLd Hfweme sllenhg LWLLDS 5HES,

wEsgeu sPfle|uQurmlsafler me o 1S BsHHO

(i) is correct (B) (), (1) are correct.
(1) i Gub &M @), (1) w_Hib &M
(iv) — is only correct Mll of these correct
(1v) vl b Sananggh &l

73. Which Substance present in coal may lands to increase in temperature as to bring
spontaneous inanition?
fleossflae sopgeaer bl Gurmpelamd Geuliufleew Hsflsg srems eapluybd
BlevwsE Qaranh deddlpg ?

(A)

E(J)/‘

74. What

Magnesium (B) Aluminium
Quseifluin 2iey Bleflwid
Pyrites (D) Phosphorous
eI e LIT& LI &0

1s GIS?

GIS eremmed eretra ?

©

030/DM/24

Geographical information system (B) Geographical intimation system

Helluwe saeued (perm yeSulwe sifleliiiy wpenp
Geological information system (D) Geographical initiative system
LeisTentLIs) SE6U6 BNy Lefluflwied b el (penn
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5.

76.

77.

78.

How many classes are there in explosives according to the Manual of Fireman ship?
Gugpleudd gt Sanuwir Gneradluber Uy agsomer umswunear Geugliysear (Explosives)
2 T EITE ?

Ay 5 (B) 6

y/’7 @) §

Loss of pressure due to
Brwss @iy agered gHUREDE.-

(A) Static pressure
Hep@uirer SiPsshd peTs
(B} Pressure at hydrant with water flow
BirggnQuieSimba seamenti QeuafiCumnd Gung THUEL AWSSD ETTHTOTS
The difference between the static pressure and the pressure at a hydrants
with water flow
feowrar  Sipssnd wpmd  Brgo@ulbladmig  GeueliGumpb  sarertilean
SigbssHparar GapLn®
(D) All of these
2jenessg GLo

The minimum static water supply required to the Cotton Mill is?
LEES @ase Comauwunar GophsuL s Hlawwrar B cuphsd eremug) ?

365000 1ts (B) 500000 lts

365000 . 500000 &N r
(C) 600000 Its (D) 650000 lts

600000 &Sl 650000 &flLr

Quantity of hose required for tackling rural fires
yopst & luggisener apswimer Gg)meuuu@\;@@kgﬂm«mﬂm 2 6TaY

(A) 1000 ft. 2000 ft.
1000 =114 2000 =g
(C)y 3000 ft. (D) None of the above
3000 =g B ergieyd @évena
21 030/DM/24
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o

79.  What is the Flash Point of Acetylene?
DL ellen Fuiupm Hlevew erewre 2

-17.7°C (B) -70.5°C
(C) -80.5°C D) -90.7°C

80. CLASS M.P. Fire — types Explosives consist of
CLASS ML.P. § cfiusg erdléd ahuL ssniquig) ?

(A) Phosphorus filling are involved
urevugen BriyBlene o Lerme

(B) Cloud of Lethal gas are involved
O QUML) Sl LD 2 L GITeT
Burning Metallic Powder’s are involved
o Gars giadgaie afigd Henew

(D) Radio activity exposal.
adfluss Qerefiiun® flenaulemer

81. Colorgasisa
&Teu!T QUK GTesTLIg)

Butane and Propane (B) Methane

Ry Ggtr wopw yBrriGLiesn 1B&Ca et
(C) Oxi-Actylene (D) Marsh gas

D dedl- AL g eSles DTTEly G

82.  Which one of the following used extensively especially at rick fires?
Gameupeuaneupmier fs § eluggmseildr LwETURSSCIUBH G g ?

(A) Spade <7 Forks
avGup SBUmitgen

(C) Bill Hook (D) Slashers
Heb qur®ss Guen e

83.  One kilowatts equal to
@ HGeoor eurl_ ereug)

(A) 1500 Watts (B) 500 Watts
1500 eurt. SO0 sum
1000 Watts (D) 2000 Watts
1000 sum_ 2000 eum_
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84.

85.

Which of the statement given above is are correct?
Qar@&stiu_Hieter sflseansuier arg sflwreng 2

(1) Ammeter used for measuring current.

(11) Ampere used for measuring short circuit.

(111) Watt is a practical unit of power.

(1) BarGarm_Lsas emelpeugheE HbSLLT twatuRssubhdpg
(1) dlengnsel uniussame sarsdheausnE HwAwi vwauBapa
(1)  dpen yhodler e@ eumt

(A) (v, (1) only correct (B) (ii), (ii1) only correct
1), (i1} wi_ R &M (1), (1) LG &M
(1), (111) only correct (D) All are correct
(1), (111) w G A Smarggib &l

Consider the following pairs
“eeu(meuaeumenn GUMhSgs.
GuwGa GsrssiiucCReteneaunde erg sflwreng ?

(1) Bhopal gas tragedy - 1984
(1) Tsunami - 2004
(1) Commbatore Bomb blast - 1993
(1) Gurune eflay aumyy FwueILD - 1984
(1) Semd - 2004
(ii1) CGamubuggm Ceuy Suss - 1993
Which of the following give below above is / are correct?
(1), (11) only correct (B) (1), (111) only correct
1), (1) ol Hn sh (1), (i) w Hn &M
(C) (11), (1i1) only correct (D) All are correct
(11), (111) G & Snasgb Fil
23 030/DM/24
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86. Which one of the following gums used in the MFG of Shellac?
2TEHG 2 HuSSH D LweruBESLURD b TE ?

(A) Cobals & Lac

Gamueei . ong
(C) Balsams (D) None of these
U &b @aundledr ggbideme

87. Ladderisa

eremfl eTemLIg Ga(I,

(A) Machine : \@ﬁ{.escue Appliances
Aupd o Sy o usgeRTd

(C) Safety equipment (D) Hydraulic Equipment
UTEI&TUL] 2 LISTEuTD aanL jredlé o LgsFemTD

88.  Which one of the following hitch used to make a rope fast to a hook for a short haul?
Qarsdude sullperp shsTelswns Qamis il LWHTURSILUBD (WPuds 6T ?

(A) Water man Hitch (B) Draw Hitch
eum_Li Guesr @ & G JT @&

(C) Timber Hitch PP Black Wall Hitch
GLbLIT @& Gerrd eumey @&

89. Celluloid is a

GegyeomullL ereLig

(A) Cellulose Acetate QB( Cellulose Nitrate
QedgnGoaren &G QadanGeamen enml GrL

(C) Ethyl Cellulose (D) Methyl Cellulose
Tgdled CewgGeare Qwsde GFwgyGame

90. Codliveroilisa
srl oSeuir yulleh eremuigy

Animal oils (B) Mineral oils
cllevrai; eregr(olemi seflo eretanri
(C) Vegetable oils (D) Essential oils
sTUsH eraprl e SiGHwmeudlur eregrQl e Liser
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91.

92.

a3.

94.

1s used for tying together the wet lines of different thickness

@renp deascuCauprenr giger Garam mrorar suimsamer @eerds GUILLLED (pig&e

eTg 2
4)
()

Draw hitch (B) Timber hitch
Carrick bend #" Double sheet bend

Which of the following premises should be provided with smoke extraction system?
Aereupd aThs euarnasdheE Yans QeueliGupmib enwiy dummsstiur. GeuHib ?

4)

B)

Atrium with compartment volume of 2000 m3
2000 gar B i Qarererareyenw gt Mwih ienm

Double storey building
@ram® M@ SLLL LD

%G)’Hotel guest room with double basements

D)

@ran® sor & st Gsram_ Lwelwr elHiH S L1 b

College hostel single storey building
e serd Csrare soent eflhd st b

Which of the following services provision not required for main switch room?
Hemeumb aThs Cameusafler qemm Guouler sefll & s Coanauldaena ?

(4)

(©)

Mechanical ventilation (B) Lighting

Qusdlr smbComL. ey gatl sugsl
Equipotential bonding Mooding protection
ST YEERTLIL] SHEnLDLIL] QeueTerLs UTgISTLIL

Which of the following statement is incorrect about the building collapse?
Geraupd &L @Qipur( Qariruner ehs ¢ Fnbm SIDTag ?

Mf ertical cracks are danger then the horizontal cracks occur in building wall

B)

©

D)

sULL sapfld Horwir dflse giu@eems L. Ceugssm flsd
SIUMUSTLO TS

Displacement of steel or cast iron pillars

Too(@ Bevg euTTl(Hiby gramaetled G Cuwrgd

Sagging floors or beams are sighs of probable building collapse

sahsdT  odeg oL msell®d  dsriey ghupsed  srdlunrer  sLLL
@ unhssTer odl@Hser

Fire accident occurred for more than three hours in a building may collapse
epatty wenll Cursdneg Cuars § luggy Haphs sl @ubg Slpeugdssne

QUMLILIL| 2 &TeTg

25 030/DM/24
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95. Gas cylinder painted in yellow colour denotes
ey Qararsaafles wigsser B eusmend LFOLUL g GLUE agmer GD&SDng 2

(A) Hydrogen (B) Methyl chloride
GG L TE6HT GsdoEGarmany @

(C) Oxygen & Chlorine
&g &Germilem

96. The resistance in an electric circuit does not depends on which of the following
factor?
(1) The length of the conductor
(1) The cross sectional area of the conductor
(111) The material of which the conductor 1s made

(iv) Temperature
e Wetanhidh o arer Wemgent emeumd eThg E&mrentlep GLUTMISSE Biedes ?

1)  sLsHuler Herid
(1) sLsfuller GnsE Ceul B uliy
(1) sLgd Gewiud L Gummer

(v) Qeauuflene

(A) () and av) (B) @), (i), (111) and (iv)
(i) whmid (iv) @), (i), (iii) wHmib {v)

© (@) G None of the above
() eupdier egidlaene

97.  Flash point of Class B type petroleum lies between
Class B-auens Gur Grreflugder Flash point ereueueray?

(A) 50°F and 73°F 73°F and 150°F
50°F wpmo 73°F 73°F wogb 150°F

(C) 151°F and 223°F (D) 224°F and 300°F
151°F whmib 223°F 224°F wphmn 300°F
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98. In aeronautical term, RATOG means
gGrrprlgsd Qerpsailes RATOG ererugy) eremes 2

M Rocket assisted take off gear
(B) Random area turn off gear

(C) Randomly assisted take off ground
(D) Rocket and turn off gear

99. Inrural fire plan, rendezvous points means
dyrouyp § oty gour@eeiie Qream_evbeucn yetafl eremug) eree?

(A) Location anti method of transport

L whpmb CursGeurss wpen
ocation and arrangements for a man to direct fire appliances

Swenenrliy saidlsener Qeqsscushsrar @b wHMb THUTHSET
(C) The danger periods in the year
HLERTIG 0 BIUTWLISTLOTE STEO&L L LD

(D) None of the above
GuheEemrL eTgia)b @deama

100. In practice, what is the minimum rate of application of induced foam compound and

water solution?
Bl pepulles gramlul L gy swees bHmb B sarseoe odfeumsgus@sen
GOPHSULF HEFD eremar?

4.5 litres per minute per square metre
(B) 8.5 litres per minute per square metre

(C) 12.5 litres per minute per square metre
(D) 16.5 litres per minute per square metre

27 030/DM/24
[Turn over



